Jooboooogouodod

gogn goobobobbboooooon

godn goobbobbuouooooobon

HEN .00/0

goon

goon goobobobbbdooooobobobbogoo
1200 0 0 0 0 B30 201-50100 O O O

goon 13713858995 13713858995

HREREEN

Joobogoo*oogo” bbb toboboboooogbogn
bbbt tdbobogbobotdbtbtdboobogn
oot ouoooooon
Jogboouodbodbodbooboon

oot

oo obouoogogn
oot

D20 000000000 obouogogn
bbb oboboooubotuboobooboon
Jogboouotdbtbtobobougoubotdbuobgn-
ubixgogogotdod

Ooon

oottt botubtdboobd




2000000 obouoogogn
bbbt obobooubotuboubooboon
gobbogboogotgbotdbubotobobobnogn-

Jo0d0Ox gododoobo-o0boooon
Joot——-—>o0u0od

oo ouoooooooon
oo+ otdodx oo odooogod
Jogbgboogououogod
Joooooogododoobooboobogogiecotdodnod
DO00odusk bbbl goodododognod
Jobgozotugodonoodonidiodoonoogon
oo obtuobotbecobgobooono
Joooooogououodoobooboon

oot

Oooo:

10doogodaailoeont

200 0 00 0O O 100x 5%=501 [

oot dniieo+st x 13%=13.651

AL O 0O 600 O

S0 00000 60x 13%=7.80

00O 00O 0O 100+5+13.65+60+7.8=186.4501

googgg



100000020000
20 0 000 O 200% 10%=2000

000 00 200+20=22000
0000000
220-186.45=33.55[]

0ooo

00000
1000000001000 O
200000000
300000000000

40 0 0600 O

5000 00 060x 13%=7.80
0000 O 100+60+7.8=167.80
00000

100000020000

20 0 0 00O (200-100)x 10%=100]

00000 200+10=2100



googoogo

210-167.8=42.2[]

ooboogoogououogod

42.2-33.55=8.650]

geall oot

Jo00o0+00x 0dodon

[ 00 100x 5%+100x 5%x 13%=5.6501 [

Juogboogotdbtdbtobobouotgbtdbtubgn-
DO000Ox g0dodododi1s%-10%0 x 100=30

oot gougobo4gsogogon
obbogotdbtdbtdboboboogbotdbotoboobgn
Joooooodouodoobooboooogo


http://www.tcpdf.org

